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PART : MATHEMATI

B Let o, |} are roos of quadratic equation and Pr =a” + [i7, P1ip =123 Ps =76, Pz=47 and P1 =1 the

guadratic equation whose noots are X and . .

[ |'i
(1} w2 +x—1=0 (2y#2—x+1 =0
(A +x+1 =0 [ —x—1=0
Ans. (1)

Sol. Pix}=ax?+bx+c, Pi=1 =sa+)=1 :——2 =1=sa=—bh

EEF";J +|]Pg +EP5 =i
123a +76b +47c =0

47a +47c =0
a=—C=—Dbh
So, equation Ww—x—1=0

a+fhi=Lal=-1

1 1
Sum = =— and Prod = —
— ¥ 1

Wi— 1) x +(=1) =¥ +x — 1 =0,

r The el number of 10 digs numbers formed by only 1, 1, 2}wher 1 should be used atteast 5 fmes
and 2 should be used exactly three times,
Ans. (2892)
0 digit| 1digit] 2 digit
2 5 3
i 1 & 3
0 7 3
numbers when 0 is used two dmes
al al
T 32 215120
when 0 B used 1 time.
1 g/
leal3l 63l
e
T
Toml=2892
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3.

Ans.
Sol.

i

4

L2 n

If &, @, B3, ...... I5an AP. and Eazk i ——?—; & and Eak =0 thenvalue of nis
k=1 k=]l

(1} 8 (219 (3} 10 {411

(4)

12
12
- T el
; 5
12 72
2L D 11200 = =
5 [2an +11{2d)] z &

12a; +132d = —EI_:_.'% ar

Gla: +660d =-72m
13251 + 660d =0
Zan +10d =0
ai+5d =0

i
Zak =1
k=1

g- [Ra: +(n ~1) d] =0

2e +{n-1)d =0

-10d +in-1)d =0

=10 4+n=1 =0
m=1l

If |50 is exacty divisibbe by 3™ then find maximum value of n

(1) 20 {2) 22 (3) 18 {4116
(2)
[50] [50] [509
E(3) = !_?H_?_‘_[?_' 16 +5 +1 =22
- Exponent of 3 in @ 22
L |snp =3k n=22.
Let fix) =2%2 — Gax 4+ 128 +1, fix) has maxima at ¥ =p and minima at ¥ = g such that p =g then find
fi3)
(1) 37 {2) 38 (3) 40 4] 45
(1)

flx) =2x7 —Ba» +128"x +1

ix) =6m -18ax +125°

Pix) =60 — Iax +2a87) =6ix—a) (x — 2a)
+* -

& 1 | e
a 2z
x=p =aand x=q=2a
Given F =g
3 & =2a
= a=0or2
= a=2 l(a¥0
fi3) =37
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B. Let ABCDr is a tetrahedron in which #BAC, ~CaAD, ~BAD is at night angle and area of faces. ABC, BAD
& CAD are 5, 7 and & respectively then area of face BCD is —

(1) 455 (2) 220 (3) Y110 (4) 340
Ans. (3)
Sol. LetConsider A atoriginand B, C, Dratx, v &z asxes

L

cicl)

A E“':',I
/"’I/

D (d k)

MY

ar AABC :‘—;'I:u:‘ =5
1

I:N*.—?
2
i
AACD = =b
Bi

how anea of ABCD

1
=Elﬁwﬁ=
BC=BD= (cj— bi}» (dk — bi)
¢ -8
=l-b
b o
=i {cd) —j {~bd) +k ()

ar AABD T‘

are BCD = %Jtcmf—[mf + (be)?

=%J1m-195+144
=;J¢4n
=110
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7. Three distinct numibers are selected from set {1, 2. 3, ..., 40} then find probability that they formn an
increzsing G.P.

1 3 7 11
(1} T30 (2] 50 (3} =0 (4 =0
Ans. (1)
Sol. Givensetis {1, 2,3, ..., 40}
his) =4%C3

a, b, cisGE s PFP=a
a=1lthenc=4,9 16,25 36
a =2 thenc =8, 18, 32
a=3tenc=12 27
a =4 then £ =9, 16, 25,36
a =b then c =210
a =b then c =24
a =7 then £ =28
a =B then c =32
a =9 then c =36
Towlcases =18 =h {A)
- play = DA
his)
19 19x321
AC, 403938

1

520

8. }-:I yl_“dx = — N then « is equal to (wihere [x] denctes greatest integer less the or equal to x).
e

(1) 2 {2)3 (3) 4 {45

Ans. (1)

M

M
L)

0 1 i 1 g

J': ""2c1x+J'11_ﬂ‘_ Lai +!‘:1um

={2x}, ™ +{x} , +0

=2-2n2 +1 - {1-/n2)
=2—-i2=a-2
S0, =2
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i J'LI
. i : | X+1 il -
8 The term irdependent of x in the expansion of | —; - .f-| [=
LAl Y
(1) 252 {2) 60 (3} 210 {4) 45
Ans. (3)
i 1 5 _:.'-.J
| = [ fx+1)
Sol. ||{x3<1i-
TR /)
- 10
| 1
i 4
)
| .L]I'.‘lr
Tr 1 —lq:r }'.E, _il
[ x2 )
r (10-r
LA -7
34 2
2r—30+3r=0
r=6
0T, =10C; =210
2+k’z ; I d .
10, If |zl =1.and Tk = kz where k=R then the maximum value of k +k* 1 fom [2— (2 +3i)| =1 is
+
Ans. (2)
Sol. 24k =kjzF +k3z

k=2
2 +4i =2
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11 Area bounded by region Lyl : 4@ = y=@|x=0|y=4}s

[1?-%[4&!5-43] [zp%koﬁ--m]
[3#—;[404’5-43] [4#—%[40&4&]
Ans. (1)
S5ol. Solvingd -2 =x
=42
Required region s asxz0
2 FY i
= [ —(a—d1du+ [4-0 - a)dx
W 3 Z
2 o
= [ —apdx+ [(8-x*1dx
5 ]
i : :
= |2£—4:~: ]+|Ex—£
! Al L
& 42 1.0f 162 8)|
= |_-_--BJ—[ —4-.1"5]-. hlm_TJ_“E_E _‘

*

I-II
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¥ sinkx) — (v — De*

12 If Lim - =3 then the value of i+y—wis
xald sin2x) — jix
(1)-1 {27 (3} 4 4] 3
Ans. (2]
3 3.3 4
e (1 G U WY WA (1, ST S M
Sol.  Lim 2l : a2
sl
' 2}{—11;;+...._—|1:-:
—if—u—{'f—u.'il-l-!'ﬂil-l-l' _l]]{d'
Lim 5 21 -3
e {2_|1:x_—5_x3+

f+y—a =2+1--4)=7

13. Two cicles fouches ine x +y =3 & x — v =3 also passes through (9, —4) then absolute difference of

radius of twio circles is
(1) +fog 12) 472 (31 BO 14) {120
Ans.  (3)

“J

Baoth circle touches nes

Xx+y=3andx—vy =3

=0 Centre [ies on =a3xis. el centre (o, 0) et radius r
[3—af +4y& =

it passes through (9, —4)

(9-olF+l6=r"_ (1)

akeo it touches X +y =3

I'!'rl:l— by
;2 ‘

a—3=+2T

a=xZr+3

put in (1)

(- (=2 r+3))F =2 - 16

(36 +2r2 1242 1=~ - 16
i :J.E-ﬁ r+52 =0

Let radius r &ra

(h— ) =-.|[412Ef _4.52 =288-208 =EBO

=0
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14.

Ans.

P o

Let P is any point on elipse ;{—3_ % =1 if 5; and 5; are focii of ellipse then product of maximuwm and

minirnum value of product of length PS5, &PS; is -
(162)
LetP {32 coss, 3sing)
PS1 &PSr={a—ex){a— ex)
=a2 — e n*
=18 - -% *{ 18005 )

=18 - Scosiy
So rasamunt & minErum values are 18 &9
=18 = 9 =1R/2

Focal Chord PO of the parabola y* =4x makes an angle 602 with posiive x-axis where P in I quadrant.
A circleis dravwn with 5P as diameler touches the tangent at the vectex of the parabola af (0, ohthe o’ is
(where S is focus of parabola)

(1)1 (2)2 (3% 3 (4)4
(3)
B (0.m)
< bOE >
(1, 0)
Let P& 2t)
el
t_1
S -x-J3-0
. WEtene-J3)=0
. t=ﬁ
PointP is (3, 2/3)
targentatP is
23y =2(x +3)
atRx=10
¥ ) =‘|JE
af=3

Resonance Eduventures Ltd.

Reg. Office & Corp. Office : (G Tower, A-46 & 52, IPIA, Mear City Mall, Jhalawar Road, Kota (Raj.} - 324005
Ph. Mow: «31-744-2777777, 2777700 | FAX Mo, @ +91-022-F0167 222

To Know more s RESO 3t 56677 | Website : woww resonance acin | E-nail | contacli@resonance. s n | CIN © UB0302RJ3007PLOOZ 4020

le F'ru . ‘lm !EH 5555 E 7340010333 et oo, [lwearrd da n"-'."rru.ll?m-'rrli. Eﬂh Foutiim sy Pl Dhl:'l’l L

This solution was download from Resonance JEE[Main) 2025 Solution portal PAGE #8




